
QPC Mounting Instructions 

i-Tech C o m p a n y LLC 
TOLL FREE: (888) 483-2418 • EMAIL: JnfptfJTechLCD.CQm • WFB: w w w . i T R c h l C n . r n m 

http://www.iTRchlCn.rnm


For VESA Application. Please 
follow the following steps. 
 
1)Please ensure the mounting 
surface are flat and without any 
obstacles between the wall and 
the system. 
 
2)Select any mounting kits that 
uses a VESA 75. 
 
4) Follow the mounting 
instruction for the VESA 75 kit 
that you have chosen to mount 
the system. (Please note M4 
screws are required to correctly 
mount the system.) 
 
 

Mounting: VESA 75   

- Please use M4 Screws 
- For Cut-Out dimension and 

screw location, please contact 
your sales agent. 



Mounting: Wall Mount 
For Wall Mount Application. 
Please follow the following steps. 
 
1)Please ensure the mounting 
surface are flat and without any 
obstacles. 
 
2) Locate the mounting kit that 
are included with the system. 
 
3) Mount the bracket to the wall 
with distance according to the 
mounting length given for each 
specific system size. (Please note: 
M4 Screws are required to mount 
the system correctly) 
 
4) Insert and slide downwards to 
secure the system. 
 
5) Insert the screw into the side 
of the system to lock the system 
in place. 

 

A 

B 

2 

3 

4 
5 



Mounting: Bezel Mount 
For Bezel Application. Please 
follow the following steps. 
 
1)Please ensure the mounting 
surface are flat and without any 
obstacles. 
 
2) Prepare the wall/cabinet cut 
out according the dimensions 
given for each specific system 
size.  
 
3) Prepare the holes for locking 
screws according to the 
dimensions given for each 
specific system size 
 
4) Insert the system in to the 
cut out. Then secure the screws 
into the pre-made screw hole 
to secure the system on to the 
wall/cabinet. 
 

 

- Please use M4 Screws 
- For Cut-Out dimension and 

screw location, please contact 
your sales agent. 



Mounting: Front Mount 
For Front Mount Application. 
Please follow the following 
steps. 
 
1)Please ensure the mounting 
surface are flat and without any 
obstacles. 
 
2) Prepare the wall/cabinet cut 
out and the according the 
dimensions given for each 
specific system size.  
 
3) Prepare the holes for locking 
screws according to the 
dimensions given for each 
specific system size 
 
4) Remove the screws that’s 
holding the system front bezel 
to create a open frame system 
 
5) Locate the locking beads that 
are included with each system. 
 

 

4 

5 

- Please use M4 Screws 
- For Cut-Out dimension and 

screw location, please contact 
your sales agent. 



Mounting: Front Mount 
6) Insert the locking beads in to 
the casing opening on the system 
that’s  given in the dimension 
menu. (Please note the smaller 
ends must face forward for 
correct mounting.) 
 
 
7) Insert the system in to the pre-
made cut out with locking beads 
in place. 
 
8) Tighten the screw in to the pre-
made locking screw opening to 
secure the system on to the 
wall/cabinet. 
 
9) After the system is secured 
onto the wall/cabinet with 
locking beads in place. Carefully 
align the bezel with the beads 
and re-attach the bezel to the 
system. (Push down on the bezel 
at where the beads are placed to 
ensure a tight fitting.) 
 

 

6 
7&8 

9 

- Please use M4 Screws 
- For Cut-Out dimension and 

screw location, please contact 
your sales agent. 


	投影片編號 1
	投影片編號 2
	投影片編號 3
	投影片編號 4
	投影片編號 5

